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QUESTION 1

What will happen if a soft quota is exceeded? 

A. All write operations will fail. 

B. An autosupport message will be sent. 

C. An SNMP warning message will be generated. 

D. A spare disk will be added to the volume. 

Correct Answer: C 

 

QUESTION 2

Cloning a LUN from a snapshot will cause that snapshot to be ______. 

A. recreated. 

B. corrupted. 

C. locked. 

D. destroyed. 

Correct Answer: C 

 

QUESTION 3

Which three can coexist on a NetApp storage system? (Choose three.) 

A. DAFS 

B. NFS 

C. CIFS 

D. DFS 

E. FCP 

Correct Answer: BCE 

 

QUESTION 4

Applications, such as databases, running on NAS or iSCSI or FC SAN must be ______. 

A. prepared for snapshots by flushing buffers to disk and momentarily suspending activity. 
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B. disconnected from their storage resources during the snapshot. 

C. using dynamic multipathing during a backup. 

D. mirrored with a host-based volume manager to be backed-up. 

Correct Answer: A 

 

QUESTION 5

An iSCSI _____ is established when the host initiator logs into the iSCSI target. Within a _________ you can have one
or more ________. 

A. session, session, connections 

B. connection, connection, sessions. 

C. connection, session, connections. 

D. session, connection, sessions. 

Correct Answer: A 
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